Example 3 
In this example the interest calculation is performed after allowing for reliefs that have been displaced by the carry-back

	AP 01/01/94 to 31/12/94


	AP 01/01/95 to 31/12/95



	Agreed and assessed liability of CT £20,000 less IT suffered £20,000 net nil


	Surplus ACT £5,000



	No CT is paid


	Claims under S239(3) ICTA 1988 carry it back against CT on profits of the previous AP




The liability remains Nil, being CT £20,000 less ACT £5,000 less IT suffered £15,000, and £5,000 IT is available for repayment.

Disregarding the ACT carry back claim, there would have been no CT liability, because an Income Tax set-off removed it.  There is, therefore, no S87A interest liability.

